M-6-6-1_Silent Pass with Variables and KEY

Silent Pass with Variables
Fill in one answer and then pass to the middle of the group. Remember you are NOT solving for an answer; rather you are writing an expression or an equation with one variable. Be sure each person in your group uses a different writing utensil or color.

	Written Statement
	Equation in 1 Variable

	Twenty-one minus the product of six and a number is 3.
	

	Thirty-six divided by a number is four.
	

	
	28 ÷ n = 4

	Nineteen more than a number divided by two is twenty-three.
	

	
	30 = x − 5

	
	100 ( n  = 900

	Thirty is twenty less than a number.
	

	Eighteen is three times greater than a number.
	

	Tom needs twenty more dollars than what he has saved to buy a video game for thirty-two dollars and fifty cents.
	

	
	96 ÷ 4(a) = 12

	
	37 = n + 20 + 6

	Thirty-six subtracted from a number is nine.
	


Silent Pass with Variables (Key)
Fill in one answer and then pass to the middle of the group. Remember you are NOT solving for an answer; rather you are writing an expression or an equation with one variable. Be sure each person in your group uses a different writing utensil or color.

	Written Statement

(answers may vary)
	Equation in 1 Variable

	Twenty-one minus the product of six and a number is 3.
	21 – (6 × n) = 3

	Thirty-six divided by a number is four.
	36 ÷ a = 4

	Twenty-eight divided by n is four.
	28 ÷ n = 4

	Nineteen more than a number divided by two is twenty-three.
	19 + (n ÷ 2) = 23

	Thirty is the difference of a number minus five.
	30 = x − 5

	One hundred multiplied by a number is nine hundred.
	100 ( n = 900

	Thirty is twenty less than a number.
	30 = x – 20

	Eighteen is three times greater than a number.
	18 = 3 ( m

	Tom needs twenty more dollars than what he has saved to buy a video game for thirty-two dollars and fifty cents.
	$20 + n = $32.50

	Ninety-six divided by the product of four and a number is twelve.
	96 ÷ 4(a) = 12

	Thirty-seven is the total of a number plus twenty plus six.
	37 = n + 20 + 6

	Thirty-six subtracted from a number is nine.
	n – 36 = 9


